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Assessment 3 Name: LL %/ 5 B 5’ ’

Dusty Wilson
Math 254

Whesiever an infinite series is obtained as the development of some
closed expression [formula for a function], it may be used in
snathematical operations as the equivalent of that expression, even
for values of the variable for which the series diverges.

No work = no credit

No CAS Calculators L~
Leonhard Euler
1707 — 1783 (Swiss Mathematician) %
bel
Warm-ups (1 pt each): -3%= -7 i-j= S ixk=—2

1.) (1 pt) The quote by Euler (akzv2j is from our veadimgforthtsweek. According to Euler, when was it
acceptable to use divergent series? Answer using complete English sentences.
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2.) (8 pt) Consider the points 4(1,2,3), B(6,5,4), and C(9,8,7). O~ PSS

a.) Fin:i_gnmetric equations for the line that includes points 4 and B. ) 2.

— X _ - -

%’<5;31’—7 /g—'ﬁf:%s
we: Tz {230 + € (5,3,

3
X =)+ 5*‘)?:2—736 = s

b.) Find .th)e. equation of the plane that includes points 4, B, and C.
Ap= <52, 1)
EZ = (% '.é“#‘)
= =
Apxhe = (b =124
plave b(x-) - l'z,(\g-?,\ yb(2-3 Y=o
é><~(22—;éa= L2448 = O
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3.) (8 pt) Complete the following

a.) Find the parametric equations for the line through the point A (1, 2, 3) and perpendicular to both

(5,30 and 87 +67 44k, o Crv5s- py‘oo(u‘(,* <Je -2, 6D
fwe: )= )23+ €6, -12,6D
(X[é)/‘?({/)z%{:{’»; </7*1aé ’ T -2t 379&7

b.) Find the equation of the plane that passes through the point 4 (l, 2,3) and contains the line of
intersection of the planes 5x+3y+z=5 and 8x+6y+4z=14.

(5,3,12 x84 =
(et & o panmlleh v plwe)
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4.) (4 pt) Consider the parametric equations x = ¢ * and y=t.

a.) Eliminate the parameter to find a Cartesian equation of the curve. @ L(o5 <9 - P,OJ %'
YA
lg z (K

"»‘D\}CXZ X 7o

@ fc,'ﬂi» a0 s
Aer =0 = g

o< 00
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b.) Keeping in mind the original parametric equations, whai is the domain of your Cartesian
equation? ] aV, e

f
—e-)+o ( Y ~2)-r15L2:-5} =0
[o7=),

(POMJUIJ‘ —Ex+l@y = -18 +5Y =4
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